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HDJ-SCV20 EEUL oo KIKEE: 562  kg/1.8m

REEE L= 9.578 m

W ZR1EK (S —IL#)

Ay = EERENE x  FEE()
= 20 mmo X 200 mm = 400 p?
Vg = Ag x L = 400 pgp?2 X 9578 m = 383 ¢
B ZRIEK =) RTS5M<— s BEZRHE . 200 g/m?
A, = L x  FHEEGW®) x 2 m|
= 9578 m x 200 mm X 2 @ = 0383 p?
W, = A, x {ZEFHE = 0383 m? x 200 g/m? = 7660 g
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Mg . 40 mm  x ZXX. 80 mm)
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- iEEELD L = 9578 m

B XEE = A BESERESS
HBE L,=Wg + &&= 639 mm + 475 qmm = 1114 m
LB L,=18 + &= 639 mm + 475 mm = 1.114 m
ast Lee = 2.228 m

« ZRIEK(—ILH) &R L, = 9578 m
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FIEMERE A = EEfENE x  FEEW®
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WS- MBS AT — e BERME 200
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= 1114 mm X 200 mm X 2 &
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-D13(0.995kg/m)
2 K D13 x 9580 m

10 & AT)
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900 g

900 g
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A, = ( L — PREREERT = 2 ) x H;
+  ( L, — FRAREER +~ 2 ) x H,
= ( 200 mm  — 20 mm = 2 )X 60 mm R B = B M
+  ( 200 mm — 20 mm = 2 )X 60 mm
= 0.023 m?2
V., = A, X L = 0.023 m2 X 9.578 m = 0.220 m?
W #iEE/L2L
A = ( L — HEE - 2 )x Hs
+ L, — HaiE = 2 )x H,
= 200 mm  — 76 mm = 2 )X 15 mm
+  ( 200 mm — 76 mm = 2 )X 15 mm
= 0.005 m?2
V, = A, X L = 0.005 m2 X 9.578 m = 0.048 m°
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C,= Ly + L,
= 200 mm + 200
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A, = C, x L =

W= A X ZEEZEHE

B BiRRiTHa0 0 —MMLS
v= 020 x 0075

W B EERAEE
hybATVaA Uk

W= 9.578 X 20

mm -

0354 m
3.391

X 9578

Y= 20

191.6

e ZERMFE: 300 g/m?
5 i + Hs +
76 mm  + 15 mm +

HO

X 9578 m = 3.391

m2 X 300 g/m? = 1.02
X 2 = 0.29 m3
kg/m

kg

m

2

15

kg

mm
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+ L, — HaiE = 2 )x H,
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= 0.005 m?2
V, = A, X L = 0.005 m2 X 9.578 m = 0.048 m°
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